
Subject: Re: problem with  recoideal_complete.C
Posted by Ajay Kumar on Mon, 09 Jun 2014 08:06:16 GMT
View Forum Message <> Reply to Message

Ok,  I should not try to add 100 pid_complete.root files to get the total 1 millions event. beside
this I should run my analysis 100 times with each 10^4 events and create required histogram
files and should add that 100 final histogram files.
was that your mean?  

if I understood it correctly.

I need to know one more thing. 

Why we need parameter file for our analysis? 
 code part is here.

 FairParRootFileIo* parIO = new FairParRootFileIo();
 parIO->open(inParFile);
 rtdb->setFirstInput(parIO);
 rtdb->setOutput(parIO);  

Can we perform our analysis only with the output of reconstruction( pid_complete.root)?

Thanks in Advance.
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